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1. Prefifad To&F ¥ F I @ 150 T A AR

Answer the following questions in about 150 words each : 10x5=50

' i 1 a% § W T
(a) @Wammmﬁmﬁmwmmmwamwmmﬁ
Wﬁﬁﬂgﬁammnﬁaﬁﬁwﬁwﬁ%ﬁwﬁmwﬁfﬁammﬁm%l

Differentiate between perceived demand curve and B;gp,@t_igr_lﬁli}emandd Cur"d
in a monopolistic competitive market. Explain why the proportional deman

curve is steeper than the perceived demand curve.

(b) sfafia RRETR A S A e free Sl
Discuss critically the phenomenon of classical dichotomy.

© mm%@ﬁ%gﬁﬁw%mwﬁw-maﬁmw%@ﬁmﬁﬁmﬁ
go § EIgER W Al muferar & s R
Show that ad valorem tax is preferable to specific sales tax from a firm’s point

of view in generating the same level of tax revenue.

(d) @ﬁﬁﬂﬁﬂﬁﬁ?@ﬁﬂﬁﬁmﬁazﬁs@ﬂﬂﬂﬁmml
Examine the role of treasury bills in controlling money supply.

(e) = % F9-yfia wu-ar Ff R B g aeE w1 i)

Write down the major assumptions behind(Neoclassical Loanable Funds

Theory of Interest.

2. (a) mﬁﬁa@-ﬁm@—ém%aﬁ%mﬁa%mﬁmﬁwﬁmlm

aﬁﬁqﬁsﬁ@mwmﬁmwmmaﬂ%ﬁﬁm
Derive Pareto optimality conditions in production in a two commodities-two
factors-two producers framework. Show that Pareto optimality does not

necessarily guarantee for equity. 10+10=20

(b) T SR AT F AR ) R g i T eeR-we st @ ) wwe
ﬁﬁm%aaﬁqﬁmmmmﬁmaaﬁ%mmamﬁaﬁaﬁwmm
R
Write down the behavioural assumptions used in Marshallian and Walrasian

—_—
approaches of market stability. Show that these two approaches become

conflicting when both the demand and supply curves are ositively sloped.
8+7=15

(c) THEERI SREfE % sruld wF w ¥ seueed @ QHE Fger AU i
Describe the short-run and long-run equilibrium of a firm und@

competition) S 15
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3. (@) Yafmy
IR |/ 370 ol
o EI-AR T A AT
m'mﬁﬁmﬁmmm%?ﬁﬁm !

Explaj
i]]upslz-m' the concept of under
tration. Why full employment ca?”

(@PProach Analyse.

(b) HR{ S g (V)
s toe s
ehel w=d Hed ¢ s=-40+0-5(Y -T
W Ge : T=20+0-2Y
faw wem ¢ 1=20-0-25r
g1 | oM : L=0-4Y -0-5r
Fhel GaT qfd : M =40 (g *73)
< g1 H gfd b nommm,wm@ﬁmwwm?

Calculate the equilibrium d___,_—_———-m @(r) by using an

appropriate macroeconomic model from the information given below :
-40+0-5(Y - T)+0-25r

yfﬂ with graphical
ed automatically in &
. 10+10=20

awaath)#ﬁﬂWqTW$‘Eﬁaasmq$

)+O-25f

Aggregate saving function : s=
Tax function : T=20+0-2Y
Investment function : I =20-0-25r
Money demand function : L=0-4Y-0-5r

Aggregate money supply : M =40 (rupees in crore)
he equilibrium values change when money supply is increased by

How will t
«@ 10+5=15

W%WWWWWWI

(c)
Critically analyse Elassical theory of interm 15

4. (a) st 1 g ar@ g & a4 a1 T I g
mﬂﬁz@wmﬁmum%ﬁﬁmeﬁﬁm%ﬁ%ﬁﬁﬁmlwtﬁmﬁ

Describe the mechanism of credit creation by oo ,
implications on Sultiplier_effeck Aflal S€_some Ofth&r‘C la-l b.anks and. its
jeopardise the implications o0 ultiplier effect ¢ limitations that can
10+10=20
(b) wEsE T i awgel # mmlvﬁ“ﬁ*%ﬁ%mwﬁwﬁ
- ST I

Bt B, e R
Distinguish between iblic_good® "‘“
ublic goods 200ds” Explain how market

failure occurs in the case of P
.—/\
7+8=15

——
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() TR % dfom Regr % mm%ﬁmﬁm%ﬁ@ﬁ%mmgﬁzﬁwﬁwwﬁ
WW@WWﬁnﬁ%?aﬁmaﬁﬁﬁmmgﬁﬂmﬁ%mﬁﬁé?

What is the difference between Fisher’s theory and Cambridge cash balance
approach to quantity theory of money? What is the criticism of each? Which

one is more relevant in present context? Justify. g+4+3=15
@uz—B / SECTION—B
5. frefiad ToE TE HSW AT 150 =1 § AT
10x5=50

Answer the following questions in about 150 words each :
(a) S ¥ wed A i AR o Fo Mo TH TEHT TIF T STl e H

Critically examine as a crude indicator of development.

ﬁﬁma%gaﬁaaaamﬁmm%ﬁﬁmml

Explain managed floating and W for exchange rate.
-_—/—"/

mﬁmﬁammmﬁwmﬁwﬁmﬁﬁmml

ne is helpful in reducing environmental degradation.

Discuss how carbon trading
“ﬁmmﬁqﬁmmméﬁmﬁmyﬁﬂmm%l”w 19 39 HYH § FET

%7 wAgl
«“Higher tariffs do not increase employmerﬁ, they just redistribute the

u agree with the statement? Explain.

(b)
(c)
(@)

unemployed.” Do yo

mﬁqﬁﬁmmmﬂ?wﬁaﬁ%ﬁmmaﬁiﬁmﬁd@%ﬁmﬁﬁm

Bt 2
Explain how the equilibrium terms of trade are determined by usin

curves of the trading partners.

(@) mﬁwﬁm%aﬁgﬁmwwmmaﬂhml

Discuss the elasticity approach and absorption approach for adjustments in
balance of payments. - 20

() S e B T § R 6 T 6 STETHAIRT W TS T q
R & geifad 9@l h =9 i
By usi
E r): lilsmg Stf)lper-Sz.u.nuelson theorem, discuss the possible effects of free trade
ncome inequalities in developing countries. 15

(c) W 5 Fr sam RRah fafm ) o e i
SR 3 ﬁm@,;ﬂa,mﬁ $ A q AT
H W L A A Y o B0 R

Explain ho P
w the elasticity of demand for foreign exchange is influenced by the

elasticity of home d
. em ] ..
import-competing goodasl,'ld for imports and by the elasticity of home supply of

(e)

15

7 . (Q]
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7. (a) WRERC % A ¥ afs ~
: T % s o g e # fhE YT
HEHTHS ST B 2 Regr & S

Explain h
surplus l:};N the structy sformation, in the economy, takes place with :
our as pef Lewis theg f economic development. 20

b
Y ﬁﬁmmﬁ - frs Wm%wwaaﬁﬂwﬁ?wﬁwﬁm—ﬁsﬁm
ﬁwﬁww%?m%muwmaﬁmn

What are the advantages and disadvantages of public-private partnership
model for economic development? What are the key prerequisites for success of
10+5=15

PPP model? Explain giving examples.

(c) ﬁmmﬁa%aﬁ%%nmnﬁwmwﬁwhéadﬁﬁmﬂﬁ%m-ﬁm%Hﬁ
(v8-famer) A fd=m Hfm mmmmmﬁﬁ%
i s (pros and cons) in the debate ove import substitution and

D 'e-iss%
export promotion strategy for developing countries. Which strategy would you
favour and why xplain. 10+5=15

8. (a) W§IF Ty fawE FHrEHA (’137‘1?0 Ho o) ¥ wra fwm gEHH (To o aTZo) % T&A
STt a1 o R T TS B i (fr-wafa ) et A R 5 Al ®
R FA % fog Suge Ffaf F gam i)
Describe the maj.or components used in Human Development Index (HDI) by
the Umted. Natfon.s PCVCIOpment Programme ((UNDP); Write down the
m.ethodologlcal limitations of this index. Suggest appropriate method to
eliminate these limitations, 10+5+5;20

|
() S 9 E R F 7 Ty w A F % R P F I U’ AR F T 6
qfepeTET 19U HIRT R 3 % R a8 aReew R FER a8
Discuss the inverted ‘U’ shaped hypothesis by in describing the
relationship between inequality and economic growth. How is this hypothesis
useful for developing countries? 10+5=15

(c) ﬁmaﬁaﬁfwawmﬁ*aﬁwﬁﬁqnm%ﬁmm%ﬂz%aﬁmqﬁw
nﬁaﬁa@aﬁma@mﬁmmma
ted rate of growth and natural rate of growth.

Distinguish between W _natural ratg (
Explain how ife-edge instabi problem occurs in Harrod’s model of
10+5=15

economic growth.
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